6. A solid shaft h

1. A solid shaft circular cross-section
is subjected to a torque T which
produces a maximum shear stress
f, in the shaft, the diameter of the
shaft should be

A. /xf,J16T
B. 3,/7f,/16T
C. \,flﬁT/‘JTfs

D. 3,/16T/7fs

. If the diameter of a shaft
subjected to torque alone is
double, then the horse
power P can be increased to
a. 16P
b. 8P

c. 4P
d. 2P

. Two shaft of solid circular cross-
section are identical except for
their diameters ‘d, ‘ . They are
subjected to the same torque
‘T". The ratio of the strain
energies stored U, / U, will be
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. A shaft turns at 150 rpm
under a torque of 1500
Power transmitted is
a. 15mkw
b. 10 mkw

c. 7.
d.

d circular sha
torque “T” Nm.
produces a um shea
of f, 2 in the shaft.
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diameter of

A. 10( 1%?) "

¢ ()"

mm. it is subje
of 4 kNm. The ma
stress induced in
would be

A

a. 75/t N/ mm?

b. 150 /m N / mm?
c¢. 125/ N/ mm?
d. 150 /m N/ mm?

10. The of the torsiona

7. Two steel shaft ‘A’ and ‘B’ are used for

transmitting power. The ratio of
revolutions of shafti.e N, / Ny =2 . The
ratio of torques on shaft i.e T, / T, =
1/2 . The ratio of the horse power
transmitted by the shafti.e P, / P,
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. A bar AB of diame
long is rigidly fi e A tor
of 600 Nm isap a section of
bar, 1 m e e fixing coup

T, and 3
respect| ely, re
a. 450 Nmand 1
00 Nm and 400 Nm
00 Nm and 150 Nm

d.. 300 Nm and 100 Nm
h >
strain energy in torsio a shaft

unit volume is gi by (q is
sh p E- ul .

s A and

|gidity}

tance of a sol
f diameter ‘D" and

external diamete
iameter d is give

e correct
e lists:

Q" 4,0
/ c-2,D
1,C-4,D-3

8-3,C-2,D-1

A solid circular shaft, ABC has a
total length of 3, a’ A gear wheel
positioned at B, at distance ‘a’
from the left hand end A, exerts a
torque T. if the ends A and C are
intsantaneously locked in position
by brakes just before the torque is
applied , the torsional moments
induced in both segments T,
(AB)and T, (BC) are in the ratio
3:1

2:3
1:2
2:1

0T

13. Two shafts having same length and

material are joined in series and
subjected to a torque of 10 kNm. If
the ratio of their diametersis 2 : 1
then the ratio of their angles of
twist is

ar stress
haft is 5
aft is of 40
r what is the
value of
oment ?

8 Nm
63 Nm

. 126 Nm
d. 251 Nm

16. The failure surface of a standard

cast iron torsion specimen,
subjected to a torque is along

a. The surface helicoidal at 45° to
the axis is the specimen

b. The curved surface at the grips

c. The plane surface
perpendicular to the axis of
the specimen

d. The curved surface

perpendicular to the axis of
the specimen



